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3) Rnum=7118050 EventN=4805055 (0 Yd-S[+])
(1) Energy=59.257660 Y=-3.838973 Phi=-3.052815
(2) Energy=12.704531 Y=-3.456123 Phi=-3.025216
M12=0.552 Y12=-3.760 Phi12=-3.046 E12=71.962
3 AN/.6=1.667

SumN(-) = 0 SumN(+)=

North FPD

9.81058 0.860334

0.634808

Runn

ing Yellow Spin Accumulation | spcntH

Entries 3

N Nurpper of E\gnts
a1 w [6)] ENN 1
[ [ [

N
|

Mean 1
RMS 0

.............................................................

.........................................................................

..........................................

95

-2 -15 -1 -05 0 05 1 15 2 25

[Yellow S] dot [L direction] (+1/-1)

| south FPD |

= /[
2 -
61

0 0 0 0 0 0

0 0 0 0 0 0
.........................................................................

0 0 0 0 0 0
------------------------------------------------------------------------

0 0 0 0 0 0

0 o 0 0 Yoo 0 10

3 4 5

col



Running Yellow Spin Accumulation | spcntH
4) Rnum=7118077 EventN=1908661 (0 Yd-S[+ ;
) ( [+]) @ . . . . . . . — Entries 4
_ S ] A Mean 1
(1) Energy=57.564709 Y=-3.705787 Phi=-3.036358 >
u RMS 0
e Y N S
(2) Energy=15.044069 Y=-3.447442 Phi=3.017774 )
o]
g
M12=0.568 Y12=-3.651 Phi12=-3.094 E12=72.609 Z A e [

SumN(-) = 0 SumN(+)=

North FPD

491743
051024 0.50601

4 AN/.6=1.667 3

0.826288 *

-%.5 -2 -15 -1 05 0 05 1 15 2 25
[Yellow S] dot [L direction] (+1/-1)

| south FPD |

z /f
o -
= L o 0 0 0
P RN RS SOURN SRR SRR SO
[ o 0 0 0
] S S U SO SEUUURU U AU 10
[ o 0 0 0
0 0 0
.................................................................
1
0 0 0
-----------------------------------------------------
812573 : 0 0 0
0 0 0 0 10

0IIIIiIIIIiIIIIiIIIIiIIII
0 1 2 3 4 5 6 7



5) Rnum=7118078 EventN=1409037 (1 Yu-N[+])
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6) Rnum=7118085 EventN=3104969 (3 Yu-S[-])
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7) Rnum=7119002 EventN=2803373 (1 Yu-N[+])
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9) Rnum=7119027 EventN=607827 (2 Yd-S[+])
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15) Rnum=7121120 EventN=5607561 (2 Yd-S[+])
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(1) Energy=38.650578 Y=-3.669304 Phi=-0.131184

(2) Energy=38.630482 Y=-3.711876 Phi=0.168261

M12=0.581 Y12=-3.702 Phi12=0.015 E12=77.281

SumN(-) = 4 SumN(+)= 12 AN/.6=0.833

North FPD

Running Yellow Spin Accumulation | spcntH

Entries 16

[Eny
(o2}
|

Mean 0.5

=
T

S RO VRN SUNOE I NS HOA S -|rus 066

-
N
|

Number of Events
T

=
o

9

5 -2 -15 -1 05 0 05 1 15 2 25

[Yellow S] dot [L direction] (+1/-1)

| south FPD |

. 0529104 [ 20.8825

0 0

IIIIiIIIIiIIII
00 1 2 3

10



Running Yellow Spin Accumulation | spcntH
Entries 17

17) Rnum=7122052 EventN=1304723 (3 Yu-S[-])

-
o
|

Mean 0.4118
(1) Energy=58.943008 Y=-3.794388 Phi=-2.975634

=
T

R SRSt IS ST I ST S --|RMS 09113

(2) Energy=15.497013 Y=-3.510819 Phi=3.079326

Number of Events
R
| T

M12=0.571 Y12=-3.733 Phi12=-3.034 E12=74.440 I ORI R SR SR (N
SumN(-)= 5SumN(+)= 12 AN/.6=0.686 ] ESR TP SRR O SO S | B -

9

5 -2 -15 -1 05 0 05 1 15 2 25

[Yellow S] dot [L direction] (+1/-1)

[ South FPD |

z 7 . ! ! ! z 7C
[e) : : : o) L
= 0683712 R = [ o 0 0 0 0 0 0
O g S ... R R S 61
0 : 0 : 0 : 0 r
M T S S S 10 5[ 10
6.23776 50.6348085 0 C
e s ST SO S 4
0 -
3f ] S 1 R R 1
[ o 10.5384 0.67605 0 r
R e e i it U 2
C o 0 0 0 B
s mummn L S T, SR A e
[ o : 0 : 0 : 0 : 0 : 0 : 0 10 [ o 0 0 0 0 0 : 0 10
0_|||||||||||||||||II|IIII|IIII|II|| 0_|||||||||||||||||||||||||||II|||||
0 1 2 3 4 5 6 7 0 1 2 3 4 5

col col
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19) Rnum=7125052 EventN=2805576 (3 Yu-N[+])
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20) Rnum=7125057 EventN=2209207 (2 Yd-S[+])
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21) Rnum=7126008 EventN=9400736 (3 Yu-N[+])
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22) Rnum=7126016 EventN=203197 (1 Yu-N[+])
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